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4ℓ+ Emiss
T analysis

□ Interpolating the AZH plateau signal was a bit tricky. In total, we have 72 mass point
generated.

□ No function to describe the signal shape, as the shape vary significantly from mass point
to another.

□ In addition, each category has a different shape in the same mass point.

□ To fix this problem, we do interpolation twice:

◦ Fix the energy gap and interpolate the mA; and (711 mass points)
◦ Fix the energy gape and interpolate the mH for the second time (7.9k mass points).

Abdualazem |


